9002 DW Double Pedal Primary

SP04
SP72

SP725 %

E ESP048
{:y g .SPO?9

SP09L 62 ] SP047 !
SP097 é‘ 3
SP077 / P |

LN .

SP2029 SP064

o

SPO

SP047@

©

)]
<
Q

TR

o

L ke —
kL L T T T RS S ——

SP705  E,5P705

) PEDALCSY

page 1 of 2




9002 DW Double Pedal Primary

Part Number

Description

DWSP009
DWSMO020
DWSP021
DWSP023
DWSMO029
DWSP030
DWSP031
DWSP032
DWSP037
DWSP043
DWSP047
DWSP048
DWSP049
DWSP051
DWSP056
DWSP058
DWSP061
DWSP062
DWSP063
DWSP064
DWSP068
DWSP073
DWSPO77
DWSP082
DWSP083
DWSP088
DWSP091
DWSP092
DWSP093
DWSP097
DWSM101
DWSP108
DWSP114
DWSP209
DWSP210
DWSP211
DWSP217
DWSP258
DWSP701
DWSP704
DWSP705
DWSP711
DWSP720
DWSP721
DWSP722
DWSP723
DWSP725
DWSM809
DWSP901
DWSP902
DWSP997L
DWSP1000
DWSP1090
DWSP1201
DWSP1204S
DWSM1207
DWSP2029
DWSP9000FO

FOOTBOARD ASSY, WITH HINGE,HEEL, BLOCK
SPRING WITH FELT INSERT

10-32 X 1.95” SPRING SCREW

SPRING HEX LOCKNUT

3/8” DRUM KEY SCREW (4 PACK)

1/2” BEARING RETAINER

KNURLED PEDAL SPUR

WING SCREW FOR TOE CLAMP BLOCK

SPUR COMPRESSION SPRING

1-1/8” BEARING

1/2” SPACER

RIGHT SIDE ROCKER SCREW

RIGHT SIDE UPPER STEEL ROCKER

LOWER SPRING HOLDER

1-3/8” BEARING

4.5” SHAFT

1/4-20 SQUARE NUT (FOR TOECLAMP & 9000 CAM)
TOE CLAMP SCREW

9002 AUXILIARY CAM

9002 PRIMARY SIDE SPACER BETWEEN CAMS
TOE CLAMP

LEFT UPPER ROCKER SCREW

TAPERED SPRING SPACER

KNURLED STEP

TOE CLAMP SPRING

9000/9002 PRIMARY CAM ASSEMBLY
SECONDARY BEATER HUB

.965” THICK BEARING SPACER

SPRING ASSEMBLY

SQUARE INSERT FOR DWSP091 CAM

TWO WAY BEATER (SMART PACK)

1/4-20” KNURLED STEP NUT

PRIMARY SIDE BASE CASTING FOR 9002

9002 LINKAGE DRIVE ASSEMBLY WITH UNIVERSAL
9002 LINKAGE WITH DWSP029 SCREWS
COMPLETE LINKAGE DRIVE ASSEMBLY
LOWER ROCKER SCREW FOR 9000/9002 PEDAL
1/2” OD 3/16” ID PRECISION DELTA BEARING
BACK HEEL SCREW (3 PACK)

SCREW, NUT AND WASHER FOR PEDAL CHAIN
SCREWS WITH WASHER FOR HINGE (4 PACK)
10-24 X 1/4” SET SCREW

CAM ADJUSTER

PIN

TORSION SPRING

SLIDE

1/4-20 X 5/16 LG SCREW

3-WAY KEY

FLAT PHIL SMS (4 PACK)

SCREW FOR BASEPLATE

TOE CLAMP LEVEL ASSEMBLY

PLASTIC MOLDED PEDAL KEY CLIP

9000 PEDAL PLATE ONLY WITH VELCRO

HEEL

CHAIN

BEARING HINGE (RED)

1/4-20 X 1/2" CHROME DRUM KEY SCREW
FOOTBOARD

) PEDALCSY

page 2 of 2




